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Child Development & Pedagogy 
 

 

1. The psychological basis of teaching 

– learning depends on- 

(A) Teaching style 

(B) Course-content 

(C) Language 

(D) Socio-economic status 

2. According to RTE Act, 2009, the 

Pupil – Teacher ratio  for primary 

schools should  be - 

(A) 25:1  (B) 35:1 

(C) 40:1  (D) 30:1 

3. Which of the fallowing is a perform-

ance test of intelligence ? 

(A) Bhatia Battery(B) Rorschach test 

(C) WAIS  (D) Raven's SPM 

4. Which tests are designed to measure 

the effects of a specific programme 

or training? 

(A) Personality (B) Intelligence 

(C) Achievement (D) Creativity 

5. At which stage of development an 

individual faces the problem of 

vocational adjustment. 

(A) Old Age (B) Adolescence  

(C) Childhood (D) Infancy 

6. Who was the chairman of National 

Steering committee of NCF, 2005 ? 

(A) Prof. Kothari(B) Prof. Mehlotra 

(C)Prof. Yashpal(D) Prof. RamMurti 

7. Playway method of teaching is based 

on - 

(A) Theories of methods of teaching 

(B) Principle of growth and develop-

ment 

(C)Sociological principle of teaching 

(D) Physical education programme 

8. The theory of learing proposed by 

Albert Bandura is- 

(A) Classical conditioning theory  

(B) Cognitive theory 

(C) Insight learning    

(D) Social learning theory. 

Ckky fodkl ,oa f'k{kk 'kkL= 

1- f'k{kd & vf/kxe dk euksoSKkfud vk/kkj fdl 

ij fuHkZj djrk gS\ 

(A) v/;kiu 'kSyh (B) fo"k;&oLrq 

(C) Hkk"kk    (D) lkekftd&vkfFkZd Lrj 

2- vkj-Vh-bZ- vf/kfu;e] 2009 ds vuqlkj izkFkfed 

fo|ky;ksa ds fy, fo|kFkhZ&v/;kid vuqikr gksuk 

pkfg,& 

(A) 25%1  (B) 35%1  (C) 40%1  (D) 30%1 

3- fuEufyf[kr esa ls dkSu&lk cqf) dk fu"iknu 

ijh{k.k gS\ 

(A) HkkfV;k cSVjh (B) jks'kkZ ijh{k.k 

(C) MCyw-,-vkbZ-,l-(D) jsou dk ,l-ih-,e- 

4- fdlh fo'ks"k dk;ZØe ;k izf'k{k.k ds izHkkoksa dk 

ekiu djus ds fy, fdl izdkj ds ijh{k.kksa dks 

ifjdfYir fd;k tkrk gS\ 

(A) O;fDrRo  (B) cqf) 

(C) miyfC/k  (D) jpukRedrk 

5- fodkl dh fdl voLFkk esa ,d O;fDr 

O;kolkf;d lek;kstu dh leL;k dk lkeuk 

djrk gS\ 

(A) o`)koLFkk  (B) fd'kksjkoLFkk 

(C) ckY;koLFkk  (D) f'k'kq voLFkk 

6- ,u-lh-,Q- 2005 dh jk"Vªh; fLV;fjax lfefr ds 

v/;{k dkSu Fks\ 

(A) izks- dksBkjh  (B) izks- esgyks=k 

(C) izks- ;'kiky  (D) izks- jke ewfrZ 

7- f'k{k.k dh [ksydwn fof/k fdl fl)kUr ij 

vk/kkfjr gS\ 

(A) f'k{k.k dh fof/k;ksa ds fl)kUr   

(B) o`f) vkSj fodkl dk fl)kUr 

(C) f'k{k.k dk lekt'kkL=h; fl)kUr   

(D) 'kkjhfjd f'k{kk dk;ZØe 

8- vYcVZ cUMwjk }kjk izLrkfor vf/kxe dk fl)kUr 

gS 

(A) 'kkL=h; vuqca/ku fl)kUr    

(B) laKkukRed fl)kUr 

(C) varn`Zf"V  vf/kxe   

(D) lkekftd vf/kxe fl)kUr  
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9. How many personality factors are 

proposed by Raymond Cattle ? 

(A) 5   (B) 14 

(C) 16  (D) 8 

10. Two opposing desires present in an 

individual at the same time is called 

(A) Conflict (B) Frustration 

(C) Anxiety (D) Pressure 

11. Who propounded the psychoanalyti-

cal theory of personality ? 

(A) Abraham Maslow    

(B) Sigmund Freud 

(C) Carl Rogers (D) Jean Piaget 

12. A 10 year old child has mental age  

of 12, then what would be his I.Q. ? 

(A) 100  (B) 90 

(C) 120  (D) 110 

13. Authoritarian level teaching is - 

(A) Child Centered   

(B) Teacher Centered 

(C) Headmaster Centered   

(D) Experience based 

14. Character is developed by ? 

(A) Will power 

(B) Conduct and Behaviour 

(C) Morality (D) All of these 

15. Teacher's behavior ought to be - 

(A) Administrative(B) Instructive 

(C) Idealistic (D) Directive 

16. The best remedy for a student's 

problems related with learning is - 

(A) Suggestion for hard work.  

(B) Supervised study in library 

(C) Suggestion for private tuition  

(D) Diagnostic teaching 

17. In order to understand his students, a 

teacher should be well-versed in - 

(A) Child psychology    

(B) Inclination touwards understand-

ing children 

(C) Opinions of students towards the 

subject matter    

(D) All of these 

9- jse.M dSVsy }kjk fdrus O;fDrRo dkjd 

izLrkfor fd, x, gSa\ 

(A) 5   (B) 14 

(C) 16   (D) 8 

10- ,d O;fDr esa ,d le; ij nks foijhr 

bPNkvksa dk gksuk dgykrk gS 

(A) }U}  (B) dqaBk 
(C) fpUrk  (D) ncko 

11- O;fDrRo dk euksfo'ys"k.kkRed fl)kUr fdlus 

izfrikfnr fd;k gS\ 

(A) vczkge ekLyks (B) flxe.M Ýk;M 
(C) dkyZ jkstlZ  (D) thu fi;kts 

12- ,d 10 o"khZ; ckyd dh ekufld vk;q 12 gS] 

rks mldh cqf)&yfC/k gksxh& 

(A) 100  (B) 90 
(C) 120   (D) 110 

13- vkf/kdkfjd Lrj dh f'k{kk gS& 

(A) cky dsafnzr  (B) f'k{kd dsafnzr 
(C) gsMekLVj dsafnzr (D) vuqHko vk/kkfjr  

14- pfj= fdlds }kjk fodflr fd;k tkrk gS\ 
(A) bPNk 'kfDr     
(B) vkpj.k vkSj O;ogkj 

(C) uSfrdrk  (D) mijksDr lHkh 
15- f'k{kd dk O;ogkj gksuk pkfg,& 

(A) iz'kklfud  (B) vuqns'kkRed 

(C) vkn'kZoknh  (D) vkns'k tud 

16- lh[kus ls lacaf/kr fdlh Nk= dh leL;kvksa ds 

fy, lcls vPNk mik; gS\ 

(A) dM+h esgur ds fy, lq>ko  

(B) iqLrdky; esa i;Zos{k.k v/;;u 

(C) futh V~;w'ku ds fy, lq>ko    

(D) uSnkfud f'k{k.k 

17- vius Nk=ksa dks le>us ds fy,] ,d f'k{kd 

dks vPNh rjg ls tkuuk pkfg, 

(A) cky euksfoKku  

(B) cPpksa dks le>us dh fn'kk esa >qdko 
(C) fo|kfFkZ;ksa dh fo"k; ij jk;    

(D) mijksDr lHkh  
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18. In which of the following stages do 

children become active members 

otheir peer group ? 

(A) Childhood (B) Adolescence 

(C) Early childhood(D) Adulthood 

19. Mind mapping refers to- 

(A) a technique to enhance compreh-

ension.    

(B) a plan of action for an adventure 

(C) Drawing the picture of mind  

(D) researching the functioning of 

the mind. 
20. In order to develop the spirit of labour 

in students . 

(A) the teacher himself should indulge 

in labour.    

(B) The teacher should deliver 

lectures on the importance of 

labour. 

(C) students should be given opport-

unities to do labour from time to 

time 

(D) students should be given examp-

les of people doing labour 

21. Knowledge of child psychology is a 

must for a primary teacher, because 

(A) it helps in making children 

disciplined.    

(B) The examination result is impro-

ved 

(C) It becomes a convenient mode 

for motivating children    

(D) It helps the teacher in understa-

nding the behaviour of children. 
22. When the students got failed, it can be 

understood that 

(A) The teacher is a failure   

(B) The system has failed 

(C) The textbooks are a failure  

(D) It is the Individual's failure. 

23. The most importaqnt trait of a 

student is. 

(A) Sense of responsibility  

(B) Honesty 

(C) Cooperation (D) Obedience 

18- fuEu esa ls fdl pj.k esa cPps vius lgdehZ 

lewg ds lfØ; lnL; cu tkrs gSa\ 

(A) ckY;koLFkk  (B) fd'kksjkoLFkk 
(C) izkjafHkd cpiu (D) o;Ldrk 

19- ekbaM eSfiax dks lanfHkZr djrk gS\ 
(A) le> dks c<+kus ds fy, ,d rduhd  

(B) ,d lkgfld dk;Z ds fy, dkjZokbZ dh 

;kstuk 

(C) fnekx dh rLohj [khapuk    

(D) eu ds dkedkt ij 'kks/k 
20- Nk=ksa esa Je dh Hkkouk dks fodflr djus ds 

fy,& 

(A) f'k{kd dks [kqn dks Je esa 'kkfey djuk 

pkfg,    

(B) f'k{kd dks Je ds egRo ij O;k[;ku nsus 
pkfg, 

(C) Nk=ksa dks le;&le; ij Je djus ds 

volj fn, tkus pkfg,   

(D) Nk=ksa dks Jfed yksxksa ds mnkgj.k fn, 

tkus pkfg, 

21- ,d izkFkfed f'k{kd ds fy, cPps ds 

euksfoKku dh tkudkjh vko';d gS] D;ksafd & 

(A) ;g cPpksa dks vuq'kkflr djus esa enn 

djrk gS    

(B) ijh{kk ifj.kke esa lq/kkj gqvk gS 

(C) ;g cPpksa dks izsfjr djus ds fy, ,d 

lqfo/kktud rjhdk cu tkrk gS  

(D) ;g cPpksa ds O;ogkj dks le>us ds fy, 

f'k{kd dks enn djrk gS 

22- tc Nk= foQy gks tk,¡] ;g le>k tk ldrk gS fd & 

(A) f'k{kd ,d foQyrk gS    

(B) flLVe foQy gks x;k gS 
(C) ikB~;iqLrdsa ,d vlQyrk gS   

(D) ;g O;fDr dh foQyrk gS 
23- ,d Nk= dk lcls egRoiw.kZ xq.k gS 

(A) nkf;Ro dk vglkl(B) bZekunkjh 
(C) lg;ksx  (D) vkKkdkfjrk 
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24. At primary level, it is better to teach 

in mother tongue because. 

(A) It develops self-confidence in 

children    

(B) It makes learning easy 

(C) It is helpful in intellectual develo 

pment.    

(D) It helps children in learning in 

natural environment. 

25. What is the most important while 

writing on blackboard ? 

(A) Good writing    

(B) Clarity in writing 

(C) Writing in big letters   

(D) Writing in small letters 

26. A student comes late in your class 

you will 

(A) Inform his parent    

(B) Punish him 

(C) try to know the reason    

(D) not pay any attention to him 

27. According to Gates,"...................... is 

modification of behaviour through 

experience" 

(A) Motivation (B) Adjustment 

(C) Learning (D) Thinking 

28. What is called the tendency of self-

love ? 

(A) Self centred tendency   

(B) Egoistic tendency 

(C) Tendency of Narcissism   

(D) Tendency of Hypnotism 

29. Children whose intelligence quotient 

is above 140 will be categorized in 

category of- 

(A) Moron  (B) Dull 

(C) Average (D) Genius 

30. The principle of 'trial and error' is 

propounded by- 

(A) Thorndike (B) McDougall 

(C) Kohler  (D) Pavlov 

 

24- izkFkfed Lrj ij] ekr`Hkk"kk esa fl[kkuk csgrj 
gS D;ksafd& 

(A) ;g cPpksa esa vkRefo'okl fodflr djrk 

gSA    

(B) ;g lh[kuk vklku cukrk gS 

(C) ;g ckSf)d fodkl esa lgk;d gS   

(D) ;g cPpksa dks izkd`frd okrkoj.k esa 

lh[kus esa enn djrk gS 

25- ';keiê ij fy[krs le; lcls egRoiw.kZ D;k 
gS\  

(A) vPNk ys[ku (B) ys[ku esa Li"Vrk 
(C) cM+s v{kjksa esa ys[ku    

(D) NksVs v{kjksa esa ys[ku 

26- ,d Nk= viuh d{kk esa nsj ls vkrk gSA vki 

D;k djsaxsA 

(A) mlds ekrk&firk dks lwfpr djsaxs   

(B) mls ltk nsaxs 
(C) dkj.k tkuus dh dksf'k'k djsaxs  

(D) ml ij dksbZ /;ku ugha nsaxs 
27- xsV~l ds vuqlkj] ^^vuqHko }kjk O;ogkj esa 

ifjorZu gh-------------gSA** 

(A) vfHkizsj.kk   (B) lek;kstu 

(C) lh[kuk  (D) fpUru 

28- vius vki dks izse djus dh izo`fÙk dks D;k 

dgrs gSa\ 

(A) vkRedsfUnzr izo`fÙk  

(B) vgadkjh izo`fÙk 

(C) ukflZflTe dh izo`fÙk 

(D) fgIuksfVTe dh izo`fÙk 

29- 140 ls vf/kd cqf)yfC/k okys cPpksa dks fdl 

Js.kh esa j[ksaxs \ 

(A) ew[kZ     (B) eUncqf) 

(C) lkekU; cqf) (D) izfrHkk'kkyh 

30- ^iz;kl vkSj Hkwy* fl)kUr ds izfriknd gSa 

(A) FkkWuZMkbd   (B) eSDMwxy 

(C) dksgyj  (D) ikoyo 
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Hkk"kk – I fgUnh 

funsZ'k & ¼iz'u 31&39 rd½ % uhps fn, x, x|ka'k 

dks i<+dj iwNs x, iz'uksa ds lcls mi;qDr mÙkj 

okys fodYi dks pqfu,& 

 

x|ka'k 

 

 ;g ugha Hkwyuk pkfg, fd gekjk tks O;ogkj 

gksrk gS] mlh ds vuqlkj Qy Hkh feyrk gSA tks 

lekt vkSj laosnuk dh uhfrewyd LFkkiukvksa dks 

vius O;ogkj dk fgLlk cukrk gS] ogh 'kkfUr ikus 

dk gdnkj gksrk gSA egkohj] cq)] ØkbLV] ukud] 

xk¡/kh vxj gekjs thou ij fojkteku gSa rks blesa 

mudh lnk'k;rk] fujgadkj vkSj O;ogkj dk ;ksxnku 

gSA os ft, leLr izkf.k;kas] izd`fr vkSj l`f"V ds 

fy,A muds eu esa fdlh ds fy, jÙkh Hkj Hkh 

Hksn&Hkko ugha jgkA 

 vgadkj dks foosd ls gh gVk;k tk ldrk 

gSA xk¡/khth us xqykeh ls vktknh] euq";rk dh lsok 

vkSj foosd ls fe=rk dks viuk y{; cuk;kA lcds 

izfr leku n`f"V dk gh Hkko vkSj O;ogkj Fkk fd 

xk¡/kh fo'o usrk cusA xhrk esa dgk x;k gS fd tks 

leLr izkf.k;ksa ds fgr esa lnk layXu jgrk gS] 

lcdk fe= gksrk gSA egkohj lR; dh lk{kkr 

vuqHkwfr esa eS=h dh vfuok;Zrk dh ?kks"k.kk djrs gSaA 

;g vuqHkwr lR; gS fd tks viuk fe= gksxk] og 

gj fdlh dk fe= gksxkA vki Hkh bls vktek dj 

ns[ksaA eglwl gksus yxsxk fd ftl 'kkfUr ds fy, 

HkVd jgs gSa] og dgha ckgj ugha vkids vUnj gh 

gSA   

31- dkSu&lk 'kCn fHkUu gS\ 
(A) fe=   (B) ohjrk  

(C) fe=rk  (D) euq";rk  

32- lgh 'kCn pqfu,& 
lcds izfr-------------n`f"V dk Hkko vkSj 

O;ogkj gksuk pkfg,A 

(A) fHkUu  (B) vykSfdd  

(C) lkekU;  (D) leku   

33- ^viuk&ijk;k* esa lekl gS& 

(A) }U}   (B) vO;;hHkko  

(C) f}xq   (D) rRiq#"k   

34- gesa fdlds vuqlkj Qy feyrk gS\ 

(A) cqf)  (B) oa'k  

(C) lekt  (D) O;ogkj   

35- 'kkfUr dks dgk¡ ik;k tk ldrk gS\ 
(A) lekt esa  (B) /keZ esa  

(C) Lo;a esa  (D) ifjokj esa   

36- buesa ls fdls xk¡/khth us viuk y{; ugha 

cuk;k \ 

(A) foosd ls fe=rk (B) xqykeksa ls vktknh  

(C) xqykeh ls vktknh (D) euq";rk dh lsok   

37- vuqPNsn ds vuqlkj] fdls vius O;ogkj dk 

fgLlk cukuk pkfg,\ 

(A) lR; vkSj vlR; dh ifjHkk"kk   

(B) vgadkj vkSj foosd dh ifjHkk"kk  

(C) lekt vkSj laosnukvksa ds uSfrd ewY;  

(D) xq# ukud nso dh f'k{kk,¡   

38- xk¡/khth fo'o&usrk cus] D;ksafd& 
(A) os vuq'kklu fiz; Fks    

(B) lHkh ds izfr mudh leku n`f"V o O;ogkj 

Fkk  

(C) mUgksasus lR;kxzg fd;k    

(D) os LorU=rk vkUnksyu ds usrk Fks   

39- egkohj] cq)] ØkbLV] ukud o xk¡/khth esa D;k 

lekurk gS\ 

(A) lHkh Hkkjr esa tUesa gSa    

(B) lHkh us ekuo&dY;k.k fd;k  

(C) lHkh /keZxq# gSa (D) lHkh laU;klh gSa   

funsZ'k&¼iz'u 40&45½% fuEufyf[kr dkO;ka'k dks 

i<+dj iwNs x, iz'uksa ds lcls mi;qDr mÙkj okys 

fodYi pqfu,& 
 

dkO;ka'k 

  

 lkdkj] fnO; xkSjo fojkV! 

 ikS#"k ds iqathHkwr Toky! 

 esjh tuuh ds fgefdjhV! 
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 esjs Hkkjr ds fnO; Hkky! 

  esjs uxifr! esjs fo'kky! 

  ;qx&;qx vts;] fucZa/k] eqDr] 

  ;qx&;qx xoksZUur fur egku] 

  fuLlhe O;kse esa rku jgs] 

  ;qx ls fdl efgek dk forku \ 

 dSlh v[kaM ;g fpj lekf/k \ 

 ;froj! dSlk ;g vej /;ku \ 

 rw egk'kwU; esa [kkst jgk 

 fdl tfVy leL;k dk funku \ 

  my>u dk dSlk fo"ke&tky 

  esjs uxifrA esjs fo'kky ! 

40- ^fgefdjhV* dk vk'k; gS&  

(A) BaMk eqdqV  (B) cQZ dk eqdqV  

(C) pk¡nh dk eqdqV (D) Lof.kZe eqdqV   

41- ^uxifr* dk foxzg vkSj lekl gksxk& 

(A) jRukas ¼ux½ dk ifr&rRiq#"k   

(B) uxksa ¼ioZrksa½ dk ifr gS tks&deZ/kkj;  

(C) uxksa ¼ioZrksa½ dk ifr&rRiq#"k   

(D) uxksa dk ifr gS tks] ,slk&cgqozhfg   

42- fdl iafDr esa dgk x;k gS fd fgeky; 'kfDr 
dh Tokykvksa dk <sj gS\ 

(A) ;qx&;qx vts;] fucZ/k] eqDr   

(B) esjs Hkkjr ds fnO; Hkky  

(C) ikS#"k ds iaqthHkwr Toky    

(D) lkdkj] fnO; xkSjo fojkV   

43- ^ftls thrk u tk lds* mlds fy, dfork esa 
dkSu&lk 'kCn iz;qDr gqvk gS\ 

(A) vts;  (B) v[kaM  

(C) vej  (D) fnO;   

44- ^fuLlhe* 'kCn esa dkSu&lh laf/k gS\ 
(A) Loj   (B) O;atu  

(C) folxZ  (D) nh?kZ   

45- fgeky; dks ^;froj* ! dgdj lacksf/kr fd;k 
x;k gS] D;ksafd og& 

(A) Hkkjr dk izgjh gS (B) ioZrksa dk Lokeh gS  

 (C) lekf/k esa yhu gS    

(D) leL;k dk gy <w¡<+ jgk gS   

46- fLduj us Hkk"kk lh[kus dh izfØ;k esa--------- 
ij lokZf/kd cy fn;k gSA 

(A) var% fØ;k  (B) vuqdj.k  

(C) vk"kk vtZu {kerk (D) l`tukRedrk   

47- varfuZfgr Hkk"kk {kerk dk laca/k fdlds lkFk 

gS\ 

(A) fi;kts  (B) fLduj  

(C) pkWELdh  (D) FkkWuZMkbd   

48- dchj lkroha d{kk esa i<+rk gSA og lkekU; 
ckrphr esa Bhd gS] ysfdu i<+rs le; og 

ckj&ckj vVdrk gSA og laHkor%------- ls 

xzLr gSA  

(A) fMLysfDl;k  (B) fMLxzkfQ;k  

(C) fMLQsT;k  (D) fMLizkSfDl;k   

49- xf.kr] foKku vkfn fo"k;ksa dh d{kkvksa esa Hkh 

cPps Hkk"kk lh[krs gSaA ;g fopkj& 

(A) vlR; gS  (B) iw.kZr% lR; gS  

(C) vkaf'kd :i ls lR; gS    

(D) dgk ugha tk ldrk    

50- buesa ls dkSu lk izkFkfed Lrj ij fgUnh Hkk"kk 
f'k{k.k dk mís'; ugha gS\ 

(A) lanHkZ ds vuqlkj vuqeku yxkdj i<+us 

dk iz;kl djukA    

(B) fp=dkjh dks Lo;a dh vfHkO;fDr dk 

ek/;e cukukA  

(C) cPpksa dh ?kj dh dh Hkk"kk vkSj Ldwy dh 

Hkk"kk esa laca/k cukrs gq, mls foLrkj 

nsukA  

(D) lquh xbZ ckrksa dks T;ksa dk R;ksa nksgjkukA   

51- x`gdk;Z ds ckjs esa dkSu&lk dFku mfpr gS\ 
(A) x`gdk;Z nsuk vfr vko';d gS   

(B) x`g dk;Z vfHkHkkodksa dks O;Lr j[kus dk 

mÙke lk/ku gS  

(C) cPpksa dh {kerkvksa] Lrj ds vuqlkj 

x`gdk;Z fn;k tkuk pkfg,A   

(D) x`gdk;Z d{kk esa fd, x, dk;Z dk vH;kl 

ek= gS 
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52- ,d lekos'kh d{kk esa dkSu&lk dFku Hkk"kk 

f'k{k.k ds fl)kUrksa ds izfrdwy gS\ 

(A) O;kdj.k ds fu;e fl[kkus ls cPpksa dk 

Hkk"kk fodkl 'kh/kzrk ls gksxkA   

(B) cPps ifjos'k ls izkIr Hkk"kk dks xzg.k djrs 

gq, Hkk"kk iz;ksx ds fu;e cuk ldrs gSa  

(C) Hkk"kk ifjos'k esa jgdj vftZr dh tkrh gS 

(D) fizaV&le`) ekgkSy Hkk"kk lh[kus esa lgk;d 

gksrk gS   

53- fofHkUu fo"k;ksa ds v/;;u esa Hkk"kk& 

(A) lk/; gS  (B) lk/ku gS  

(C) ck/kd gS   

(D) mís';ksa dks iwjk djus esa lgk;d gS   

54- izkFkfed Lrj ij dgkuh i<+kus dk mís'; gS& 
(A) 'kCn&lajpuk dk Kku nsuk    

(B) dgkuh ds rRoksa ls ifjp; djkuk  

(C) okD; lajpuk dk Kku nsuk   

(D) dYiuk ,oa vuqeku yxkus dh {kerk dk 

fodkl djuk   

55- igys cPpksa ds fy, fyfic) vkSj muls tqM+h 

/ofu;k¡& 

(A) fujFkZd gksrh gSa (B) lkFkZd gksrh gSa  

(C) ewrZ gksrh gSa  (D) vewrZ gksrh gSa   

56- Hkk"kk lh[kus ds fy, dkSu&lk dkjd lokZf/kd 
egRoiw.kZ gS\ 

(A) Hkk"kk ds O;kdjf.kd fu;e    

(B) ikB ij vk/kkfjr iz'uksÙkj  

(C) Hkk"kk dh ikB~; & iqLrd    

(D) le`) Hkkf"kd okrkoj.k   

57- cPps fo|ky; vkus ls igys& 

(A) viuh Hkk"kk dh fu;ec) O;oLFkk dh 

O;kogkfjd dq'kyrk ds lkFk vkrs gSa  

(B) dksjh LysV gksrs gSa  

(C) Hkk"kk dk leqfpr mi;ksx djus esa leFkZ 

ugha gksrs    

(D) Hkk"kk ds pkjksa dkS'ky ij iw.kZ vf/kdkj 

j[krs gSa   

58- f'k{kk dh fn'kk dkSu fu/kkZfjr djrk gS\ 

 (A) vfHkHkkod  (B) Nk=  

(C) ikB~;Øe  (D) f'k{kd   

59- iz;ksx fof/k ls& 
(A) Nk= vuqHko djds lh[krs gSa   

(B) Nk= ns[kdj lh[krs gSa  

(C) Nk= djds lh[krs gSa    

(D) buesa ls lHkh   

60- vkidh d{kk esa ,d cqf)eku Nk= tks lnSo 

vius Kku dk izn'kZu djrk gks] mls fdl 

rjg l¡Hkkysaxs \ 

(A) mls d{kk dk usr`Ro djus dks nasxs   

(B) mls Mk¡Vdj cSBk nsaxs  

(C) mls mldh :fp ds vuqlkj dqN dk;Z ns 

nsaxsA    

(D) mls dqN ,slk dk;Z nsaxs tks og dj u 

ldsA   
  

Language 2 (English) 
Directions – (Q.61 to 67) : Read the 

passage given below and answer the 

questions that follow by selecting the most 

appropriate option. 
 

PASSAGE 
 

 Water is the core of life; hence water 

must be central to our spiritual thinking. 

Water is not only most of earth, but also 

most of life. Therefore water conservation 

must be our deepest concern. 

 The Himalayan mountain range is 

among the highest, youngest and most 

fragile ecosystem of the planet. The 

Himalayas have given us some of the great 

river systems of the earth including the 

Indus, Ganga, Brahmaputra, Nu Salween, 

Yangtze and the Mekong. The Himalayas 

are also called the 'Third Pole', for they 

contain the largest mass of ice and snow 

outside the earth's polar region, the north 

and south poles. There is a permanent 

snowline above 5,000 metres. Some of the 
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glaciers in the region are the longest 

outside the two poles. 

 The Himalayas serve as water 

towers, providing water on a sustained 

basis to more than 1,000 million people 

and millions of hectares of land in South 

Asia.The greenery, benevolent climate, 

highly productive ecosystems, food prod-

uction and overall happiness in South Asia 

are in fact, attributable to the bounty of the 

Himalayas. They are not only beauti-ful; 

they are life-givers. Little wonder that they 

are venerated as the abode of gods. 

 To keep the Third Pole preserved 

through assured conservation is one of the 

greatest challenges for the contemporary 

world. Himalayan mountains are a 

common but fragile natural resource. As 

mountain ecosystems have enormous 

bearing on the earth's systems, their special 

care, regeneration and conservat-ion of 

their pristine resources would only bring 

more happiness, peace and prosperity to 

large parts of the world. In Agenda 21, 

Chapter 13 of the United Nations, the 

importance of mountains is underlined : 

"mountain  environments are essentaial to 

the survival of global ecosystems." 

 The Himalayas in the state of 

Uttarakhand are especially rich in water 

resources. This area is home to dozens of 

perennial streams and numerous other 

rainfed rivers along with innumerable 

rivulets, waterfalls and ponds, etc. 

61. Which of the following has not been 

mentioned in the passage ? 

(A) The Himalayas provide us with 

highly productive eco-systems.  

(B) The Himalayas provide water to 

more than 1000 million people. 

(C) The Himalayas irrigate millions 

of hectares of land.    

 (D) The Himalayas form the back 

bone of our tourism industry.  

62. Which of the following is false ? 

(A) The Himalayan mountains are a 

fragile resource.    

(B) Cimate change has little effect on 

the Himalayas. 

(C) They bring prosperity to large 

parts of the world.    

(D) They have some of the longest 

glaciers.  

63. What is not so special about the 

Himalayas in the state of Uttarakh-

and ? The Himalayan state has - 

(A) many perennial streams.   

(B) huge mineral deposits. 

(C) many rain fed rivers.   

(D) numerous waterfalls and ponds.  

64. Which one of the following words is 

most similar in meaning to the word , 

'bounty' ? 

(A) generosity (B) assets 

(C) sympathy (D) abundance  

65. Which word is opposite in meaning 

to the word, 'benevolent' ? 

(A) malevolent (B) rude 

(C) untruthful (D) indecent  

66. Which part of speech is the bold 

word in the following sentence ? 

The area is home to dozens of 

perennial streams. 

(A) Noun  (B) Adverb 

(C) Adjective (D) Pronoun  

67. In the context of the passage which 

of the following is not true ? 

Water should be central to our thin-

king because -  

(A) We cannot survive without 

water.    

(B) It is a life-line for our farmers. 

(C) It is considered holy by most 

religions.    

(D) It is the core of life.  
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Directions – (Q.68 to 75) : Read the 

passage given below and answer the 

questions that follow by selecting the most 

appropriate options. 
 

PASSAGE 
 The study of handwriting is known 

as graphology and it has been practised for 

hundreds of years. Professional forensic 

graphologists have worked on many court 

cases to use handwriting to link suspects 

with crimes. 

 Handwriting is  particularly import-

ant /legally in the case of signatures and 

proving whether signatures are real or 

forged can be pivotal. Graphologists also 

work to verify whether autographs are real 

or fake. 

 Some handwriting analysts also 

study writing samples to determine perso-

nality types and some businesses commis-

sion this analysis before hiring, new 

employees. The method is even sometim-

es used to help couples see if they are 

compatible. According to graphologists, 

there is very little you can't tell from a 

person's handwriting. 

 From psychological conditions like 

high blood pressure and schizophrenia to 

personality traits like dominance and 

aggression: if you write by hand, graphol-

ogists can analyse you. 

 Everything from the size of your 

letters to how closely you space words can 

reveal intricate details of your personal-

ity. In general, the size of your letters can 

reveal whether you are shy or outgoing. 

Compared to a standard lined sheet, of 

paper, if you write with tiny letters that do 

not reach the top line, you are likely to 

have a timid and introverted personality. If 

you write with large letters that go over the 

top line, you are likely to be the opposite: 

outgoing, confident and atten-tion seeking. 

 Studies suggest that people who 

space words widely like freedom and 

independence, whereas those choosing to 

write with small spaces prefer to be among 

others and do not like to be alone.  

68. Read the following statements - 

1. Graphology has been practised for 

thousands of years.    

2. A person's handwriting reveals 

everything about him. 

(A) Both 1 and 2 are true.   

(B) Both 1 and 2 are false. 

(C) 1 is true and 2  is false. 

(D) 1 is false and 2 is true. 

69. An attention seeking, confident 

person writes with - 

(A) large letters(B) rounded letters 

(C) tiny letters (D) cursive letters  

70. A person who writes with large 

letters that cross over to the top line 

is likely to be- 

(A) aggressive (B) diffident. 

(C) outgoing (D) introverted  

71. A graphlogist can give accurate 

information about - 

(A) setbacks a person is likely to 

face in future.    

(B) a person's chances of success  

(C) a person's popularity graph  

(D) a person's mental health  

72. Which of the following statements is 

not true ? 

Handwriting is used by graphotogis-

ts to - 

(A) help couples to determine their 

suitability to each other   

(B) predict about a person's future    

criminal tendency 

(C) nail criminals    

(D) verify genuineness of signatures  
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73. Which part of speech is the 

underlined word in the following 

sentence ? 

Graphologists can verify whether the 

autographs ars real or fake ? 

(A) Pronoun (B) Conjunction 

(C) Adverb  (D) Preposition  

74. Which one of the following words is 

opposite in meaning to 'reveal' (Para-

5) as used in the passage ? 

(A) Conceal (B) Teal 

(C) Blacken (D) Repeal  

75. Which one of the following words is 

similar in meaning to the words, 

'verify' (Para-2) as used in the 

passage ? 

(A) Notify  (B) Discover 

(C) Clarify  (D) Confirm  
76. Which of the following statements is 

true ? 

(A) All formative tasks are meant for 

assessment.    

(B) Formative assessment, to be 

effective, must be conducted only 

after teaching a lesson. 

(C) While all formative tasks are meant 

for improving teaching-learning, 

some are used for assessment too. 

(D) Formative assessment helps us to 

grade students into good, average 

and poor.  

77. When young learners seem to lose 

interest in a lesson, the teacher 

should-  

(A) tell a story or conduct an 

interesting activity    

(B) ask them to sit quietly for some 

time . 

(C) allow them to go out and play  

(D) ask them to sleep for a while   

78. Reading for comprehension can be 

best achieved through- 

 (A) Teaching learners to run a finger 

or pencil under the line being 

read   

(B) Asking the children to read the 

text aloud. 

(C) Helping learners speak words  

softly while reading    

(D) learners reading silently and 

asking comprehension questions.  

79. When young learners are taught to 

improve their spelling and punctua-

tion they will - 

(A) Nurture their creativity  

(B) Sharpen their listening skills 

(C) Improve their accuracy   

(D) Enhance their fluency   

80. Language skills are best learnt - 

(A) If they are taught in an integrated 

manner   

(B) With the help of challenging and 

mechanical language drills. 

(C) When they are introduced in is 

olation, one skill at atime   

(D) Only through written tests and 

assignments.  

81. Guided reading is preferable only 

when the learners ............ 

(A) have some basic knowledge of 

the spoken language    

(B) are familiar with the alphabet 

(C) are socialized    

(D) start coming to school   

82. A dialect is a type of  

(A) language spoken in one part of a 

country or people belonging to a 

particular social class.   

(B) language in which word forms 

do not change  

(C) Sub – standard language   

(D) manuscript 

83. Grammar–translation method is not 

useful when the class is -  

(A) heterogeneous(B) homogeneous 
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(C) overcrowded    

(D) full of mediocre students  

84. Learning a new language after pube-

rty leads to............... 

(A) normal acquisition    

(B) greater mastery 

(C) loss of mastery    

(D) difficulty in acquisition  

85. While evaluating student's reponses 

for a reading comprehension, marks 

may be deducted for............ errors. 

(A) Syntactical (B) content 

(C) Spelling (D) Grammatical  

86. Among the four skills of language, 

which pair constitutes the reinforce-

ment skills ? 

(A) Speaking and writing   

(B) Reading and listening 

(C) Speaking and listening   

(D) Reading and Speaking  

87. At class II, sharing stories, familiar 

experiences and interests, employing 

gestures where appropriate, is a sub-

skill of............. function. 

(A) Writing  (B) Reading 

(C) listening (D) Speaking  

88. A primary teacher should introduce 

reading through - 

(A) Picture books    

(B) Alphabet books only 

(C) Phonic teaching (D) Stories  

89. Skilled reading is - 

(A) Deliberate (B) Constructive 

(C) Imaginative (D) Progressive  

90. While teaching children to read, at 

which point should the teacher focus 

on commprehension ? 

(A) After children have learned how 

to decode    

(B) Right from the beginning  

(C) Once children have mastered 

phonics    

(D) When children reach class II.  

 

LkaLd`r 

funZs’k& lokZf/kda lehphua fodYia fpRok 

fuEufyf[kriz'ukuke~ ¼iz'ulM+[k;k 61&75½ mÙkja 

nh;rke~A  

61- f'k{kd% d{kk;ka ikB~;iqLrdL; lfØ;cks/kukFkZ 

izsjf;rqe~ bPNfrA rL; d`rs ,rn~ egÙoiw.kZ 

;r~ Nk=k% 

(A) ikB~;iqLrds mÙkjkf.k fy[kUrq  

(B) f'k{kds.k i`"Vku~ iz'uku~ /;kusu Ük`.oUrq 

(C) iqfLrdk;ka mÙkjkf.k fy[kUrq 

(D) Lo;a iz'uku~ i`PNUrq 
62- ,d% f'k{kd% ^ch* d{kk;k% vksfM;kHkk"khNk=ku~ 

vkaXyHkk"kka f'k{k;frA rL; d`rs l% 

vksfM;kHkk"kk;k% fHkUufHkUuizdkjokD;kuke~ 

vkaXyHkk"kk;ke~ vuqokna dkj;frA ,rsu ekxsZ.k 

v/kksxrdFkus"kq fde~ mfpre~ \ 

(A) ,rsu :<îkRed&iz;ksxs leL;k Hkofr 

(Idiomatic expression) 
(B) vkaXyHkk"kk;ka lgtn{krk yH;rs 

(C) ,"k% ekxZ izkFkfedd{kk.kka d`rs mfpr%] u 
rq ek/;fedd{kk.kka d`rs 

(D) ,"k% lEizs"k.kkRed% ekxZ% orZrs  
63-  dFksrj&ikB (non-fiction text) v/kksxr& 

 ikBlM+dyuizdkjs"kq drea Lohdjksfr \ 

(A) fo"k;% vFkZ'p (Theme and Mean-

ing) 

(B) o`ÙkkUra dFkkuda p (Story and Plot) 

(C) :id% miek p (Metaphor and 

Simile) 
(D) rqyuk Hksnlwpua p (Compare and 

Contrast) 

64- i"Bd{kk;k% vkaXyikB~;iqLrds 

o"kkZtylaj{k.kksifj ,d% ikB% vfLrA ikBL; 
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vkjEHkkr~ iwoZa f'k{kd% Nk=ku~ ysf[krqa fufnZ'kfr 

;r~ ,rfLeu~ fo"k;s rs fda tkufUr fda fda p 

Kkrqe~ bPNfUr bfrA vFk ikBa ifBRok Nk=k% 

;r~ KkroUr% rr~ fy[kfUrA ,oaizdkjd% 

iBufof/k% fda dF;rs \ 

(A) v{kj'k% cks/k% (Literal Comprehen-

sion) 
(B) esVkdkWfXu'ku (Metacognition) 

(C) ds&MCyw&,y fof/k (K-W-L Strategy) 

(D) izfrnkufof/k (Reciprcal Strategy) 

65- d{kk;ka Nk=k.kka d`rs dforkokpuL;  izeq[ka 

iz;kstue~ 

(A) dforka izfr LoizfrfØ;kizn'kZue~  

(B) lkfgfR;dfopkjk.kke~ voxeue~ 

(C) fcEcfp=L; (imagery) vUR;kuqizklLl 

(rhyme) voxeue~ 

(D) dos% ,sfrgkfldi`"Bhkwes% ifjKkue~ 
66- lIred{kk;k% Nk=% dFk;fr ;r~ l% rL; 

fe=s.k ;g 'kCnoxZleL;k (Crossword 

puzzle) [ksy&ek/;esu vkuUne~ vuqHkofr 

;% fdfŒpr~ vf/kd% n{k] ;su dkj.ksu rL; 

dkS'kyKkus o`f)% Hkosr~A ,rsu dL; 

f'k{k.keuksoSKkfudL; (Education pasycho-

logist) eUrO;a n`';rs\ 

(A)fLdéj (Skinner)(B) fi;kts (Piaget) 

(C) ok;xksRLdh (Vygotsky) 

(D) xkMZuj (Gardner) 

67- "k"Bd{kk;k% ,d% Nk=% ,da ikBa iBfr ;fLeu~ 

l% ,dL; 'kCnL; vFkZ u tkukfrA rnk rsu 

(A) 'kCn% misf{krO;% (B) 'kCndks"k% nz"VO;% 

(C) cqf)eÙk;k vuqes;e~ 

(D) f'k{kd% iz"VO;% 

68- ijh{k.ka izkekf.kad Hkofr ;fn ijh{k.kh;L; 

lE;d~ ijh{k.ka Hkosr~A ijh{k.ka fo'oluh;a 

Hkofu ;nk r= lkrR;a Hkosr~A dnkfpr~ 

ijh{k.ksu ijh{k.kh;L; lE;d~ ijh{k.ka ukfi 

Hkosr~ rFkkfi ijh{k.kL; lkrR;a eU;rsA ,rS% 

okD;S% ys[kdL; eq[;e~ mís';e~ 

(A) izkekf.kdrk fo'oluh;rk bR;sr;ks% 

HksnL; o.kZue~  

(B) lkEizfrd'kks/kdk;sZ"kq izkekf.kdrk;k% 

fo'oluh;rk;k% p ijh{k.ks ;ksnkuee~A 

(C) vLekfHk% izkekf.kda fo'oluh;e~  bfr 

inkH;ke~ ijh{k.kkuka o.kZua dj.khoa u ok bfr 

lUnsgksiLFkkiue~  

(D) losZ"kq ijh{k.ks"kq izkekf.kdrk fo'oluh;rk 
p L;krke~ bfr vkxzg% 

69- "k"Bd{kk;k%Nk=k% l| ,o dFkke~ ,dka 

ifBroUr%A f'k{kd%Nk=ku~ iz'uL; mÙkja 

i`PNfr] ^^fdeFkZe~ v'kksd% x`gkr~ iykf;r% 

\** v;a iz'u% Nk=k.kka fda dkS'kye~ vis{krs\ 

(A) ys[kuleh{k.kL;(B) lEcU/kLFkkiuL; 

(C) vFkZlEHkkouL;(D) iwokZuqekudj.kL; 
70- fMLysfDl;k ,d% Hkk"kkxrfodkj% ;% izHkko;fr 

(A) lMsdcks/kr~ (Comprehending Signa-

ges)  
(B) dfFkrHkk"kkcks/ke~ (Comprehending 

Spoken Language) 
(C) ekSf[kdHkk"kkcks/ke~ (Comprechending 

Oral Language) 
(D) fyf[krHkk"kkcks/ke~ (Comprechending 

Written Language) 

71- ys[kue~ ,dk izfØ;k bfr eU;rs psr] fda 

ukfLr vR;ko';d% Hkkx% \ 

(A) ewY;kM+due~  (B) lEiknue~ 

(C) izk:ifuekZ.ke~ (D) iqujoyksdue~ 
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72- Nk=k.kka d`rs ckylkfgR;kuka p;ule;s 

Hkon~n`"V;k fde~ vuko';de~ \ 

(A) fo"k;k%  (B) fp=kf.k 

(C) eqnz.kxq.koÙkk (D) Nk=k.kka o;% #fp% p 
73- Jo.ka] Hkk"k.ka] iBua ys[kuŒp bR;srS% lg 

vija Hkk"kkdkS'kye~ vfLr 

(A) O;kdj.ke~ (B) fpUrue~ 

(C) vf/kxeue~ (D) ltZukRedrk 
74- izkFkfedfo|ky;L; f'k{kd% Nk=S% 

LoifjfprHkk"k;k ifjokjL; rFkk fe=k.kka fo"k;s 

dFkksidFkukFkZe~ vuqefr nnkfrA r= f'k{kdL; 

eq[;e~ mís';e~ HkofrA 

(A) Nk=k.kka lkekU;Kkuo/kZue~  

(B) cgqHkkf"kdrka lk/ku:is.k iz;ksx% 

(C) Nk=k.kka fo"k;s leqfpra Kkue~ 

(D) Nk=k.kka lkSfo/;e~ 
75- Hkk"kkfoKkurU=s vLekda ekufld% 'kCndks"k% 

dF;rs 

(A) izkXekfVDl & O;ogkjfoKkue~  

(B) ysfDldkWu & infoKkue~ 

(C) fl.V¡Dl  & okD;foKkue~ 

(D) lsekf.VDl & vFkZfoKkue~ 

funZs’k& v/kksfyf[kr 'yksda ifBRok rnk/kkfjriz'ukuka 

¼iz’ulM+[k;k 76&81½ fodYikRedksÙkjsH;% leqfpre~ 

mÙkja fpRok fy[krA 

 'kksdks uk'k;rs /ks;Za] 'kksdks uk'k;rs Jqre~A 

 'kksdks uk'k;rs  loZa] ukfLr 'kksdleks fjiq%AA 

 xkSjoa izkI;rs nkukr~ u rq foÙkL; lŒp;kr~A 

 fLFkfr#PpS% i;ksnkuka i;ks/khuke/k% fLFkfr% AA 

 ln~fHkLrq yhy;k izksDra f'kykfyf[kre{kje~A 

 vln~fHk% 'kiFksukfi tys fyf[kre{kje~AA 

 HkofUr uezkLrjo% Qyksn~xeS% 

 uokEcqfHkHkwZfjfoyfEcuks ?kuk%A 

 vuq)rk% lRiq#"kk% le`f)fHk% 

 LoHkko ,oS"k ijksidkfj.kke~AA 

 dk"BknfXutkZ;rs e/;ekukn~ 

 HkwfeLrks;a [kU;ekuk nnkfrA 

 lksRlkgkuka ukLR;lk/;a ujk.kka 

 ekxkZjC/kk% loZ;Ruk% QyfUrAA 

76- rjo% dsu dkj.ksu uezk% HkofUr \ 

(A) le`f)fHk%  (B) iq"iksn~xeS% 

(C) uokEcqfHk%  (D) Qyksn~xeS% 
77- ds"kka opua f'kykfyf[kre~ v{kjfeo Hkofr \ 

(A) i;ks/khuke~ (B) ujk.kke~ 

(C) lrke~  (D) ijksidkfj.kke 
78- dk"Bkr~  bR;L; fda fo'ks"k.ke= iz;qDre~ \ 

(A) e/;ekukr~ (B) 'kksdkr~ 

(C) lŒp;kr~  (D) nkukr~ 
79- ofg%bR;FksZ fda i;kZ;ine= iz;qDre~ \ 

(A) xkS[ke~  (B) vfXu% 

(C) ?kuk%  (D) Hkwfe% 
80- vylkuke~ bR;L; fda foykseine= iz;qDre~\ 

(A) i;kZnkuke~  (B) lksRlkgkuke~ 

(C) ujk.kke~  (D) ijksidkfj.kke~ 
81- ^tk;rs* bfr fØ;kinL; drZ`ina fde~ \ 

(A) fjiq%  (B) 'kksd% 

(C) Hkwfe%  (D) vfXu% 

funZs’k& v/kksfyf[kr x|ka'ka ifBRok rnuUrja iznÙkiz'ukuka 

¼iz’ulM+[k;k 82&90½ fodYikRedksÙkjsH;% leqfpre~ 

mÙkja fpRok fy[krA 

bg [kyq iŒpsfUnz;kf.k] iŒpsfUnz;nzO;kf.k] 

iŒpsfUnz;kFkkZ% p HkofUrA r= p{kq%A Jks=a ?kzk.ka 

fpâk Rod~ p bfr iŒpsfUnz;kFkkZ% 

'kCnLi'kZ:ijlxU/kk% eu%iqu% ljkf.k p 

bfUnz;kf.k vFkZlaxzgleFkkZfu HkofUrA u 
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bfUnz;o'kx% L;kr~A u pŒpya eu% 

vuqHkzke;sr~A 

xq#&o`)&vkpk;kZu~ vpZ;sr~A ew/kZ&Jks=&?kzk.k& 

ikn&rSyfuR;% L;kr~A vfrFkhuka iwtd% L;kr~A 

dkys fgr&fer&e/kqjkFkZoknh L;kr~ o';kRek] 

egksRlkg%] fou;cqf)% fuHkhZd%] {kekoku~] 

loZizkf.k"kq cU/kqHkwr% L;kr~A 

 u vu`ra czw;kr~A u vfrczw;kr~A u 

vU;Loe~ vkgjsrA u oSja jksp;sr~A u dq;kZr~ 

ikie~A u ikis∙fi ikih L;kr~A u vU;nks"kku~ 

czw;kr~A u vU;jgL;e~ vkxe;sr~A v/kkfeZdS% 

u nq"VS% lg vklhr~A u ukfldka dq".kh;kr~A 

u nUrku~ fo?kV~V;sr~A u Hkwfe fofy[ksr~A u 

u[kku~ okn;wr~A u fNU|kr~ r`.ke~A u 

nq"V;kukfu vkjksgsr~A u nqzee~ vkjksgsr~A u 

tyksxzosxe~ voxkgsr~A 

 u vns'ks] u vdkys] u dqRl;u] u 

izfrdwyksifgre~] u i;qZf"kre~ vée~ [kknsr~A u 

uDra nf/k HkqŒthrA u dfŒpn~ votkuh;r~ A 

u osxku~ vgaekuh L;kr~A u fu;eZ fHkU|kr~A 

 u dk;Zdkye~ vfrikr;sr~A u 

vijhf{kre~ vfHkfufo'ksr~A u p vfrnh?kZlw=h 

L;kr~A u fl)kS mRlsda xPNsr~ u vfl)kS 

nSU;e~A 

82- ^vlR;e~* bR;FksZ fda ine= iz;qDre~ \ 

(A) vu`re~  (B) vU;jgL;e~ 

(C) vijhf{kre~ (D) pŒpye~ 
83- dnk nf/k u HkksDrO;e~ \ 

(A) lk;e~  (B) fnfo 

 (C) jk=kS  (D) e/;kgss 
84- tu% ds"kka iwtd% L;kr~ \ 

(A) nq"Vkuke~  (B) vfrFkhuke~ 

(C) o';kReuke~ (D) fuHkhZdk.kke~ 

85- bfUnz;kf.k dfr HkofUr \ 

(A) iŒp  (B) =hf.k 

(C) "kV~  (D) pRokfj 
86- da u vkjksgsr~ \ 

(A) v'oe~  (B) ukSdke~ 

(C) xte~  (D) nqzee~ 
87- dsu ;qDrsu bfUnz;kf.k vFkZlaxzgleFkkZfu 

HkofUr \ 

(A) 'kjhjs.k  (B) okpk 

(C) deZ.kk  (D) eulk 
88- ^vgM+dkjoku~* bR;FksZ fda ine= iz;qDre~ \ 

(A) vgaekuh  (B) o';kRek 

(C) deZ.kk  (D) eulk 
89- ^xqRo`)kpk;kZu~* bfr ins d% lekl% \ 

(A) vO;;hHkko% (B) }U}% 

(C) rRiq#"k%  (D) cgqozhfg% 
90- ^{kekoku~* bR;= d% izR;;% \ 

(A) rqequ~  (B) Dr 

(C) erqi~  (D) Drorq 
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MATHEMATICS 
91. Which one of the following activities 

is not appropriate for 'data' represent-

ation and data interpretation ? 

(A) Newspaper Report 

(B) Project 

(C) Survey            

(D) Debate 

92. While teaching 'shapes', a teacher 

can plan a trip to historical places as  

(A) She has completed most of the 

syllabus well in time and needs 

to provide leisure  

(B) it would be a good break from 

the routine mathematics class 

and an opportunity to improve 

communicative skills. 

(C) Field trips have been recom-

mended by CBSE, so they are a 

must 

(D) Shapes are an integral part of 

any architecture and such trips 

encourage connections across 

disciplines. 
93. 'Problem solving' as a strategy of 

practice mathematics involves. 

(A) Extesive practice   

(B) Using clues to arrive at a 

solution. 

(C) Activity based approach  

(D) Estimation 

94. To introduce the concept of fraction, 

a teacher can begin with. 

(A) Identifying numerators and 

denominators of different fract-

ions.  

(B) Finding fractions on a number 

line 

(C) Writing fractions in the form of 

a/b where b≠0    

(D) Identifying fractional parts of 

things around them. 

xf.kr 

91- fuEu esa ls dkSu&lk fØ;kdyki ^vkadM+ksa ds 

izLrqfrdj.k vkSj vkadM+ksa*a ds fu:i.k* ds 

fy, mi;qDr ugha gS\  

(A) lekpkji= fjiksVZ 

(B) ifj;kstuk 
(C) losZ{k.k  (D) okn&fookn 

92- ^vkdkj* f'k{k.k ds le;] ,d f'k{kd 

,sfrgkfld LFkkuksa dh ;k=k dh ;kstuk dj 

ldrh gS D;ksafd% 

(A) mlus vPNh rjg ls le; ij ikB~;Øe 

dks iwjk fd;k gS vkSj mls vodk'k dh 

t:jr gSA  

(B) ;g xf.krh; d{kk ds lkekU; fnup;kZ esa 
varjky ysus dh rjg gksxk vkSj lapkj 

dkS'ky eas lq/kkj djus dk volj gS 

(C) lhch,lbZ }kjk {ks= ;k=kvksa dh 

flQkfj'k dh xbZ gS] vr% os gksuh 

pkfg,A 

(D) vkdkj fdlh Hkh okLrqdyk dk ,d 

vfHkUu vax gS vkSj bl rjg dh 

;k=k,a lHkh fo"k;ksa esa laca/kksa dks 

izksRlkfgr djrh gSa 

93- xf.kr vH;kl esa ^leL;k dk gy* j.kuhfr 

esa 'kkfey gS% 

(A) O;kid vH;kl  

(B) lek/kku ij igqapus ds fy, ,d lqjkx 

dk mi;ksx 

(C) xfrfof/k vk/kkfjr n`f"Vdks.k   

(D) vuqeku 

94- fHkUu dh vo/kkj.kk dk ifjp; djus ds fy,] 

,d f'k{kd 'kq# dj ldrk gS\  

(A) fHké ds va'kksa vkSj gjksa dh igpku djds  

(B) ,d la[;k js[kk ij va'kksa dks izkIr djds 

(C) fHkUu dks a/b ds :i esa fy[k dj tgk¡ 

b≠0    

(D) vklikl dh phtksa ds vkaf'kd Hkkxksa dh 

igpku djds 
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95. To be a 'good' mathematician one 

must be able to: 

(A) memorise most of the formulae  

(B) solve the problem in no time 

(C) Understand, apply and make 

connections across the concepts. 

(D) master the techniques of answer-

ing questions. 

96. Which of the following assessment 

strategies can be used to make 

connections of mathematics with real 

life and promte inter-disciplinarity ? 

(A) Survey, Project, checklist   

(B) Field trip, oral test, checklist 

(C) Field trip,  survey, project   

(D) Field trip, oral test, drill worksh-

eet. 

97. Which of the following is not related 

to early number concept ? 

(A) Class inclusion(B) Conservation 

(C) Measurement  (D) Classification 
98. Which of the following is not a 

mathematical process ? 

(A) Visualisation   

(B) Memorization 

(C) Estimation  

(D) Transposition 

99. Van Heile's levels refers to stages in 

the development of - 

(A) Place Value 

(B) Geometrical thinking 

(C) Fractions     

(D) Number concept 

100. As per the recommendation of NCF 

2005, Primary School mathematics 

curriculum should 

(A) Focus on procedural knowledge 

(B) Provide rigour in mathematical 

concepts 

(C) Prepare children for advanced 

mathematics  

(D) Relate to children's everyday 

experiences 

95- ,d ^vPNk* xf.krK dks l{ke gksuk pkfg,% 

(A) vf/kdre lw= ;kn djus esa   

(B) dqN gh le; esa leL;k dk lek/kku 

djus esas 

(C) vo/kkj.kkvksa ds e/; lEcU/k LFkkfir 

djus] le>us vkSj iz;qDr djus esa  

(D) lokyksa ds tokc nsus esa fo'ks"kK 

96- okLrfod ftUnxh ls xf.kr dk laca/k cukus 

ds fy, vkSj vr% fo"k;ksa dks fodflr djus 

ds fy, fuEufyf[kr esa ls fdu ewY;kadu 

;kstukvksa dk mi;ksx fd;k tk ldrk gS\ 

(A) losZ{k.k] ifj;kstuk] tk¡p lwph  

(B) {ks=h; Hkze.k] ekSf[kd ijh{kk] tk¡p lwph 
(C) {ks=h; Hkze.k] losZ{k.k] ifj;kstuk 

(D) {ks=h; Hkze.k] ekSf[kd ijh{kk] fMªy  

dk;Zi=d 

97- fuEu esa ls D;k izkjafHkd la[;k ladYiuk ls 

lacaf/kr ugha gS\ 

(A) oxZ lekos'k (B) laj{k.k 
(C) ekiu  (D) oxhZdj.k 

98- fuEu esa ls dkSu lk xf.krh; izØe ugha gS\ 

(A) ekuln'kZu (B) daBLFk djuk 
(C) vkdyu djuk (D) i{kkarj.k 

99- oSu ghy ds Lrj ftl fodkl dh voLFkkvksa 

dk ladsr djrs gSa] og gS& 

(A) LFkkuh; eku (B) T;kferh; fparu 
(C) fHkUu      

(D) la[;k dh ladYiuk 

100- jk"Vªh; ikB~;p;kZ dh :ijs[kk 2005 dh 

vuq'kalk ds vuqlkj izkFkfed fo|ky;ksa dk 

xf.kr ikB~;ØeA 

(A) dk;Zfof/kd Kku ij dasfnzr gksuk pkfg,A 

(B) xf.krh; ladYiukvksa esa dBksjrk nsus 

okyk gksuk pkfg,A 

(C) Nk=ksa dks izxkeh xf.kr ds fy, rS;kj 

djus okyk gksuk pkfg,A    

(D) Nk=ksa ds izfrfnu ds vuqHkoksa ls lacaf/kr 

gksuk pkfg,A 
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101. Which one of the following happen-

ings in the classroom is an activity ?   

(A) Children reciting counting in 

form of rhymes   

(B) Children copying from blackbo-

ard 

(C) Children engaged in exploration 

(D) Teacher explaining how to do 

sums. 

102. Out of the following language of 

mathematics is. 

(A) Symbolic (B) National 

(C) Complex (D) Vedic 

103. Out of the following which is not the 

characteristic of reasoning in 

mathematcs ? 

(A) Accuracy  (B) Certainty of result 

(C) Originality(D) Subjectivity 

104. Suitable method of mathematics 

teaching is - 

(A) Lecture method   

(B) Demonstration method 

(C) Inductive – Deductive method  

(D) All of the above 

105. Which of the following is not used in 

language of mathematics ? 

(A) Mathematical Formulae   

(B) Mathematical Symbols 

(C) Mathematical digits 

(D) None of these 

106. If the cost price of 8 pens is same as 

the selling price of 6 pens, the the 

gain percent is - 

(A) 33
1

3
 %  (B) 11

1

2
 % 

(C) 13
1

3
 %           (D) 25% 

107. We cannot construct a triangle, if we 

are given. 

(A) Only three angles   

(B) Two angles and one included 

side 

(C) Only three sides   

(D) Two sides and includeda gngle 

101- fuEufyf[kr esa ls d{kk esa gks jgk dkSu&lk 

dk;Z ,d xfrfof/k gS\ 

(A) cPpksa }kjk dfork ds :i esa fxurh dk 

okpu    

(B) cPpksa }kjk ';keiê ls udy djuk 
(C) cPpksa dk vUos"k.k esa yxuk   

(D) f'k{kd le>rs gSa fd iz'u dSls gy 

djsaA 

102- fuEufyf[kr esa ls xf.kr dh Hkk"kk gS% 

(A) ladsrkRed (B) jk"Vªh; 
(C) tfVy  (D) oSfnd 

103- xf.kr dh rkfdZdrk dh fo'ks"krk fuEukafdr esa 

ls ugha gS% 

(A) 'kq)rk    

(B) ifj.kke dh fuf'prrk 
(C) ekSfydrk    (D) fo"k;&fu"Brk 

104- xf.kr f'k{k.k dh eq[; fof/k gS 

(A) O;k[;ku fof/k  

(B) izn'kZu fof/k 
(C) vkxeu & fuxeu fof/k    

(D) ;s lHkh  

105- fuEu esa ls fdldk mi;ksx xf.kr dh Hkk"kk 

esa ugha fd;k tkrk gS\ 

(A) xf.krh; QkWeqZysa    

(B) xf.krh; fpUg 
(C) xf.krh; vad   

(D) buesa ls dksbZ ugha 

106- ;fn 8 isu dk Ø;&ewY; 6 isu ds foØ; & 

ewY; ds cjkcj gS] rks ykHk izfr'kr gS& 

(A) 33
1

3
 %  (B) 11

1

2
 % 

(C) 13
1

3
 %           (D) 25% 

107- ge ,d f=Hkqt dh jpuk ugha dj ldrs gSa] 

;fn gesa fn;k x;k gS 

(A) dsoy rhu dks.k    

(B) nks dks.k vkSj muds e/; ,d Hkqtk 

(C) dsoy rhu Hkqtk,¡    

(D) nks Hkqtk vkSj muds e/; dks.k  
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108. In an examination of 240 marks, a 

student scored 52 marks.  In pie chart 

the corresponding angle is -   

(A) 63o    (B) 75o  (C) 78o   (D) (21
2

3
)o  

109. If  P% of P is 36 then P is equal to - 

(A) 15   (B) 3600    (C) 600    (D) 60 
110. The number of even divisors of 100 will 

be - 

(A) 7     (B) 6      (C) 5 (D) 8 

111. Speed of a scooter is 37.8 km per hour. 

Find the speed in metre per second. 

(A) 10 m/sec (B) 10.5 m/sec 

(C) 11 m/sec (D) 12 m/sec 

112. What is the HCF of (𝑥 + 4)2(𝑥 + 3)3 

and (𝑥 − 1)(𝑥 + 4) (𝑥 − 3)2? 

(A) (𝑥 + 4) (𝑥 − 3)2
   

(B) (𝑥 + 4)(𝑥 − 3) 
(C) (𝑥 + 4)2 (𝑥 − 3)   

(D)  𝑥 − 1  𝑥 + 4 (𝑥 − 3) 
113. Find the area of semi circle if the 

perimeter is 18 cm ? 

(A) 28.5 𝑐𝑚2 (B) 33.5𝑐𝑚2 

(C) 18.5𝑐𝑚2   (D) 19.25 𝑐𝑚2 
114. The range of data 25,15,23,40,27,25, 23 

and 42 is - 

(A) 37   (B) 17    (C) 27    (D) 27.5 

115. The value of (0.125)
2

3 is - 

(A) 2.5  (B) 0.25  

(C) 0.025  (D) 0.0025 

116. Least common multiple of 
2

3
 and 

3

4
 is 

(A) 2    (B) 4   (C) 5 (D) 6 

117. If the certain sum is doubled to 8 yr on 

simple interest, in how many years will 

it be 4 times ?  

(A) 24 years  (B) 16 years 

(C) 32 years  (D) 15 years 

118. The value of   64 −  64
3

 is -  

(A) 4     (B) 8     (C) 16     (D) 32 

119. The perimeter of a rhombus whose 

diagonals are 10 cm and 24 cm is - 

(A)120cm  (B) 34cm 

(C) 68cm  (D) 52 cm 
120. The smallest prime number is - 

(A) 0     (B) 1     (C) 2 (D) 3 

108- 240 vadksa dh ,d ijh{kk esa fdlh ijh{kkFkhZ us 

52 vad vftZd fd,A ikbZ&vkys[k esa bldk 

laxr dks.k gS& 

(A) 63o   (B) 75o   (C) 78o  (D) (21
2

3
)o  

109- ;fn P dk P% 36 gks] rks P cjkcj gksxkA 

(A) 15  (B) 3600   (C) 600  (D) 60 

110- 100 ds le Hkktdksa dh la[;k gksxh& 

(A) 7    (B) 6      (C) 5 (D) 8 

111- ,d LdwVj dh xfr 37-8 fdyksehVj izfr ?kaVk 

gSA ehVj izfr lsdaM esa xfr Kkr dhft,A 

(A) 10 eh@ls (B) 10-5 eh@ls 
(C) 11 eh@ls (D) 12 eh@ls 

112- (𝑥 + 4)2  (𝑥 + 3)3
vkSj(𝑥 − 1)  (𝑥 + 4) 

(𝑥 − 3)2
 dk egRre lekiorZd D;k gS\ 

(A) (𝑥 + 4) (𝑥 − 3)2(B) (𝑥 + 4)(𝑥 − 3) 
(C) (𝑥 + 4)2 (𝑥 − 3)   

(D)  𝑥 − 1  𝑥 + 4 (𝑥 − 3) 

113- v/kZ&o`Ùk dk {ks=Qy Kkr dhft, ;fn ifjf/k 

18 lseh gks \ 

(A) 28.5 𝑐𝑚2 (B) 33.5𝑐𝑚2 

(C) 18.5𝑐𝑚2   (D) 19.25 𝑐𝑚2 

114- vkadM+ks 25]15]23]40]27]25]23 rFkk 42 dk 

ifjlj gS& 

(A) 37   (B) 17   (C) 27  (D) 27-5 

115- (0.125)
2

3 dk eku gS 

(A) 2-5 (B) 0-25 (C) 0-025 (D) 0-0025 

116- 
2

3
 vkSj 

3

4
 dk y|qÙke lekioR; gS 

(A) 2    (B) 4    (C) 5    (D) 6 

117- dksbZ /ku lk/kkj.k C;kt dh nj ls 8 o"kZ esa 

nksxquk gks tkrk gS] 4 xquk gksus esa mls fdruk 

le; yxsxk \ 

(A) 24o"kZ (B) 16o"kZ (C) 32o"kZ (D) 12o"kZ 

118-  64 −  64
3

  dk eku gS& 

(A) 4    (B) 8   (C) 16   (D) 32 

119- ,d leprqHkqZt ds fod.kZ 10 lseh o 24 

lseh gSaA bldk ifjeki gS 

(A) 120 lseh   (B) 34 lseh  

(C) 68 lseh   (D) 52 lseh 

120- lcls NksVh vHkkT; la[;k gS& 

(A) 0 (B) 1(C) 2 (D) 3 
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i;kZoj.k v/;;u (EVS) 
121. Which one of the following is not 

consistent with the requirements of 

EVS curriculum at primary stage ? 

(A) It should equip the learners with 

knowledge and skills to enter the 

world of work.     

(B) It should inculate in learners a 

concern for environment  

(C) It should engage learners to 

acquire methods and processes 

leading to generation of new 

knowledge.    

(D) It should suit cognitive level of 

the learners. 

122. Environmental factors that shape the 

development of a child include all 

the following except............. 

(A) Physique (B) culture 

(C) Quality of Education   

(D) Quality of Nutrition 
123. Out of the following, the most effec-

tive way to arouse curiosity in class V 

students is to - 

(A) Provide more hands on experiences 

(B) Give them more practice in written 

work. 

(C) Conduct frequent Unit tests  

(D) Ask probing and imaginative 

question. 

124. Which of the following tools will be 

appropriate for assessing social- 

personal qualities of children engaged 

in learning EVS through group work ? 

(A) Paper – Pencil tests 

(B) Oral questions 

(C) Rating scales  

(D) Assignments 

125. Meaningful learning should include 

............... 

(A) Application   

(B) Interest and attention 

(C)Definite aim 

(D) All of the above 

i;kZoj.k v/;;u (EVS) 
 

121- fuEu esa ls dkSulk izkFkfed Lrj ij i;kZoj.k 
v/;;u dh ikB~;p;kZ dh vko';drk ds 

vuq:i ugha gS\ 

(A) mls dke dh nqfu;k esa izos'k ds fy, 

f'k{kkfFkZ;ksa dks Kku ,oa dkS'ky ls ySl 

djuk pkfg,A     

(B) mls f'k{kkfFkZ;ksa esa i;kZoj.k ds ljksdkj dks 

mRiUu djuk pkfg,A 

(C)  mls f'k{kkfFkZ;ksa dks mu i)fr;ksa vkSj 

izfØ;kvksa dks vftZr djus esa 'kkfey 

j[kuk pkfg, tks u, Kku dks mRiUu 

djus esa vkxs ys tk,¡xsA    

(D) mls f'k{kkfFkZ;ksa ds ekufld Lrj ds 

vuqdwy gksuk pkfg,A  

122- ----------ds vykok cPps ds fodkl dks vkdkj 

nsus okys okrkoj.kh; dkjdksa esa fuEufyf[kr lHkh 

'kkfey gSa 

(A) 'kkjhfjd xBu (B) laLd`fr 

(C) f'k{kk dh xq.koÙkk (D) ikSf"Vdrk dh xq.koÙkk  

123- d{kk V ds f'k{kkfFkZ;ksa esa ftKklk tkxzr djus dk 

fuEu esa ls lcls izHkkoh rjhdk gS& 

(A) vf/kd gLrijd vuqHko iznku djuk  

(B) fyf[kr dk;Z esa mUgsa vf/kd vH;kl nsuk 

(C) vDlj bdkbZ ijh{k.kksa dk vk;kstu djuk 

(D) xgu tk¡pijd vkSj dYiukijd iz'u 

iwNuk 

124- lewg dk;Z ls i;kZoj.k v/;;u dj jgs cPpksa 

dh lkekftd&oS;fDrd fo'ks"krkvksa ds vkdyu 

ds fy, fuEufyf[kr esa ls dkSu&lk midj.k 

lokZf/kd mi;qDr gksxk \ 

(A) dkxt&isafly ijh{k.k 

(B) ekSf[kd iz'u 

(C) fu/kkZj.k ekifu;k¡ (D) nÙkdk;Z  

125- lkFkZd vf/kxe esa-----------------'kkfey gksuk 

pkfg,A 

(A)  mi;ksfxrk  (B) :fp vkSj /;ku 

(C) fuf'pr mís'; (D) mijksDr lHkh   
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126. The interaction between environment 

and society depends on the social 

and ................system. 

(A) Psychological (B) Legal 

(C) Economical  (D) Political 

127. Which of the following approach 

lays emphasis on 'learning by doing' 

concept ? 

(A) Social constructivist Approach  

(B) Holistic Approach 

(C) Spiral Approach    

(D) Integrated Approach 

128. Among the following which is not 

the element of active learning ? 

(A) Questioning  (B) Experimenting 

(C) Exploring (D) Remembering 

129. What are the purpose using visual 

aids while teaching EVS ? 

(A) To make the subject simple  

(B) To be more knowledgeable 

(C) To complete the syllabus   

(D) To make discipline in claseroom 

130. The role of the teacher in EVS 

classroom is - 

(A) Guide  (B) Observer 

(C) Participant (D) Assistant 
131. Which one of the following is related to 

the blue revolution ? 

(A)Milk Production(B) Fish Production 

(C) Oil Production (D) Food Production 

132. Which type of family is the basis of 

social life ? 

(A) Nuclear family  (B) Joint famity 

(C) Both (A) and (B) 

(D) Backward family 
133. What is the common goal of the 

different schools of yoga ? 

(A) Purification of natural environment  

(B) Purification of mankind 

(C) Self-realization and integration of 

body and mind.    

(D) Self-realization and participation of 

natural environment. 

 

 

126- i;kZoj.k vkSj lekt ds chp ikjLifjd 

ckrphr lkekftd vkSj------------O;oLFkk ij 

fuHkZj djrh gSA 

(A) euksoSKkfud  (B) dkuwuh 

(C) vkfFkZd  (D) jktuhfrd  

127- fuEu esa ls dkSu lk n`f"Vdks.k ^djus ds }kjk 
lh[kusa dh vo/kkj.kk ij tksj nsrk gS\ 

(A) lkekftd jpukoknh n`f"Vdks.k  

(B) lexz n`f"Vdks.k 

(C) lfiZy n`f"Vdks.k (D) ,dhd`r n`f"Vdks.k  

128- fuEu esa ls dkSu lk lfØ; vf/kxe dk rRo ugha 

gS\ 

(A) iz'u iwNuk  (B) iz;ksx djuk 

(C) [kkst djuk  (D) ;kn djuk 

129- bZ-oh-,l i<+kus ds nkSjku n`'; foKkiu dk 

mi;ksx djus dk D;k mís'; gS\ 

(A) fo"k; dks ljy cukuk    

(B) vf/kd tkudkj gksuk 

(C) ikB~;kØe dks iwjk djuk    

(D) d{kk esa vuq'kklu cuk, j[kuk  

130- bZ-oh-,l- d{kk esa f'k{kd dh Hkwfed gksrh gS& 
(A) iFk&izn'kZd  (B) leh{kd 

(C) izfrHkkxh  (D) lgk;d   

131- fuEu esa ls uhyh Økafr fdlls lEcfU/kr gS\ 
(A) nqX/k mRiknu (B) eNyh mRiknu 

(C) rsy mRiknu  (D) [kk|ku mRiknu  

132- fdl izdkj dk ifjokj lkekftd thou dk 

vk/kkj gS\ 

(A) ewy ifjokj  (B) la;qDr ifjokj 

(C) (A) vkSj (B) nksuksa (D) fiNM+k ifjokj  

133- ;ksx ds fofHkUu fo|ky;kas dk lkekU; y{; D;k 
gS\ 

(A) izkd`frd i;kZoj.k dh 'kqf)A   

(B) ekuo tkfr dk 'kqf)dj.k 

(C) 'kjhj vkSj eu dk vkRe&cks/k vkSj 

,dhdj.k    

(D) izkd`frd i;kZoj.k dh vkRe&izkfIr vkSj 

Hkkxhnkjh 
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134. Asia's largest cattle fair is organized 

at- 

(A) Sonpur  (B) Pushkar 

(C) Nasik  (D) Haridwar 

135. Bhilai Steel Plant is situated in. 

(A) Jharkhand (B) Chhattisgarh 

(C) Odisha  (D) Bihar 

136. In order to be appointed as the Gove- 

rnor of a state, one must have attain-

ed the age of - 

(A) 32 years (B) 50 years 

(C) 30 years (D) 35 years 

137. BT cotton is - 

(A) A hybrid plant    

(B) A transgenic plant 

(C) A natural plant    

(D) A medicinal plant 

138. Which of the fallowing is required 

for healthy bones ? 

(A) Patassium and Vitamin K   

(B) Calcium and Vitamin E 

(C) Calcium and Vitamin C    

(D) Calcium and Vitamin D 

139. The instrument to record the 

intensity of earthquake   

(A) Physiograph  

(B) Seismograph 

(C) Cardiograph  

(D) Barograph 

140. 'Bihu' is a folk dance of which of the 

following states of India ? 

(A) Rajasthan (B) Tamil Nadu 

(C) Assam  (D) Bihar 

141. Who was the first female governor of 

Madhya Pradesh ? 

(A) Shitla Sahaya  

(B) Jamuna Devi 

(C) Uma Bharti  

(D) Sarala Grewal 

142. Which is the lowest rainfall district 

in Madhya Pradesh ? 

(A) Morena  (B) Gwalior 

(C) Ujjain  (D) Bhind 
 

 

134- ,f'k;k dk lcls cM+k i'kq esyk vk;ksftr gksrk gS& 

(A) lksuiqj esa  (B) iq"dj esa 

(C) ukfld esa  (D) gfj}kj esa  

135- fHkykbZ bLikr la;a= fLFkr gS& 
(A) >kj[k.M esa  (B) NÙkh[kx<+ essa 

(C)  vksfMlk esa  (D) fcgkj esa  

136- fdlh jkT; ds jkT;iky dh fu;qfDr ds fy, de 
ls de D;k mez gksuh pkfg, \ 

(A) 32 o"kZ  (B) 50 o"kZ 

(C) 30 o"kZ  (D) 35 o"kZ 

137- chVh dikl gS& 
(A) ,d ladj ikS/kk  

(B) ,d Vªkaltsfud ikS/kk 

(C) ,d izkd`frd ikS/kk    

(D) ,d vkS"k/kh; ikS/kk  

138- fuEu esa ls dkSu LoLFk vfLFk;ksa ds fy, 

vko';d gSa\ 

(A) iksVSf'k;e ,oa foVkfeu K    

(B) dSfY'k;e ,oa foVkfeu E  

(C) dSfY'k;e ,oa foVkfeu C    

(D) dSfY'k;e ,oa foVkfeu D    

139- Hkwdai dh rhozrk ukius dk ;a= gS& 
(A) fQft;ksxzkQ   

(B) lhLeksxzkQ 

(C) dkfMZ;ksxzkQ   

(D) cSjksxzkQ   

140- ̂fcgq* Hkkjr ds fdl jkT; dk yksdu`R; gS\ 
(A) jktLFkku  (B) rfeyukMq 

(C) vle  (D) mÙkj izns'k   

141- e/;izns'k dh izFke efgyk jkT;iky dkSu Fkh \ 
(A) 'khryk lgk;  

(B) tequknsoh 

(C) mek Hkkjrh   

(D) ljyk xzsoky   

142- e/; izns'k esa lcls de o"kkZ okyk ftyk dkSu& 
lk gS\ 

(A) eqjSuk  (B) Xokfy;j 

(C) mTtSu  (D) fHk.M   
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143. Which of the following tribes is not 

of Madhya Pradesh ?  

(A) Bhil  (B) Jaunsari 

(C) Gond  (D) Baiga 

144. Which of the following is not a 

natural disaster ? 

(A) Earthquake  

(B) Short Circuit Fire 

(C) Tsunami  

(D) Cyclone 

145. 'Mekhala Chadar' is the dress of 

which state ? 

(A) Haryana  

(B) Himachal Pradesh 

(C) Assam   

(D) Goa 

146. Who coined the term 'ecosystem' ? 

(A) Haeckel  

(B) Humboldt 

(C) Tansley   

(D) Odum 

147. Biotic component of environment 

includes - 

(A) Land  (B) Air 

(C) Plants  (D) Water 

148. When did the first passenger train 

started in Indian ? 

(A) 1920   (B) 1856 

(C) 1853   (D) 1959 

149. The name of the first artificial 

satellite in India was - 

(A) Bhaskar  

(B) Aryabhatta 

(C) Rohini   

(D) Edusat 

150. Normal temperature of human body 

is ................ 

(A) 33o  Celcius   

(B) 38o  Celcius 

(C) 98.6o  Celcius   

(D) 37o  Celcius 

 

 

143- fuEu esa ls dkSu&lh tutkfr e/;izns'k dh 

ugha gS\ 

(A) Hkhy   (B) tkSulkjh 

(C) xksaM   (D) cSxk   
 

144- fuEu esa ls dkSulh izkd`frd vkink  ugha gS\ 

(A) Hkwdai   

(B) 'kkWVZ lfdZV Qk;j 

(C) lqukeh   

(D) pØokr  

145- ̂es[kyk pknj* fdl jkT; dk ifj/kku gS\ 
(A) gfj;k.kk   

(B) fgekpy izns'k 

(C) vle   

(D) xksvk  

146- ̂ifjra=* 'kCn dk xBu fdlus fd;k \ 
(A) ghdy   

(B) gecksYV 

(C) Vsalys   

(D) vksMe 

147- i;kZoj.k ds tSfod ?kVd esa lfEefyr gS& 
(A) Hkwfe   (B) ok;q 

(C) ikS/ks   (D) ty  

148- Hkkjr esa izFke ;k=h jsyxkM+h dh 'kq#vkr dc 

gqbZ \ 

(A) 1920  (B) 1856 

(C) 1853  (D) 1959   

149- Hkkjr ds igys d`f=e mixzg dk uke D;k Fkk 
\ 

(A) HkkLdj   

(B) vk;ZHkê 

(C) jksfg.kh   

(D) ,MqlsV   

150- ekuo 'kjhj dk lkekU; rkieku------------ 

gksrk gSA 

(A) 33o  lsfYl;l  

(B) 38o  lsfYl;l 

(C) 98.6o  lsfYl;l  

(D) 37o  lsfYl;l   
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                     MPTET ANSWERS             Date – 23/01/2022 

1 A 21 D 41 C 61 D 81 C 101 C 121 A 141 D 

2 D 22 B 42 C 62 B 82 A 102 A 122 A 142 D 

3 A 23 D 43 A 63 B 83 A 103 D 123 D 143 B 

4 C 24 D 44 C 64 A 84 D 104 C 124 B 144 B 

5 B 25 B 45 C 65 A 85 A 105 D 125 D 145 C 

6 C 26 C 46 B 66 C 86 A 106 A 126 D 146 C 

7 B 27 C 47 C 67 C 87 D 107 A 127 A 147 C 

8 D 28 C 48 A 68 C 88 A 108 C 128 D 148 C 

9 C 29 D 49 B 69 A 89 B 109 D 129 A 149 B 

10 A 30 A 50 D 70 C 90 B 110 B 130 D 150 D 

11 B 31 A 51 C 71 D 91 D 111 B 131 B   

12 C 32 D 52 A 72 D 92 D 112 A 132 B   

13 B 33 A 53 B 73 B 93 C 113 D 133 C   

14 D 34 D 54 D 74 A 94 D 114 C 134 A   

15 C 35 C 55 A 75 D 95 C 115 B 135 B   

16 D 36 B 56 D 76 C 96 C 116 D 136 D   

17 D 37 C 57 C 77 A 97 C 117 A 137 B   

18 B 38 B 58 C 78 D 98 B 118 A 138 D   

19 D 39 B 59 C 79 C 99 B 119 D 139 B   

20 C 40 B 60 A 80 A 100 D 120 C 140 C   

Hkkx&2 ¼laLd`r½ 

61 D 66 C 71 A 76 D 81 D 86 D 

62 A 67 C 72 C 77 C 82 A 87 D 

63 D 68 A 73 B 78 A 83 C 88 A 

64 C 69 C 74 B 79 B 84 B 89 B 

65 A 70 D 75 B 80 B 85 A 90 C 
  


